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1. ¥ -ii+-;! -—-f. express the value of f in simplest form in terms of
w, v. Check your result when u=3, v=2,
[256 marks.]
2, Solve the equation :
6 3x-1-1
z—5 2x-3

[26 marks.]

3. If a=- x—, b—.i, c= .i, prove that
Y1z 2 z+y ~

[25 marks.]

4. A grocer mixed three kinds of tea. In the mixture he put

a 1bs. which cost (z+4) pence per 1b., (z —8) 1bs. which cost (z--8)
pence per lb., and (x--4) Ibs. which cost (x—7) pence per
Ib. He sold the entire mixture at (z--10) pence per Ib.,
thereby making a profit of £3 11s.

(i) Find, in terms of , the total cost price of the
mixture ;

(ii) Calculate the value of z.
[25 marks.]

48




2

ise fully the following expressions :
a+y)* —(x-y)*

28t —14(a+2)+24,

' z8—3a*z-1-2a¢%. [Use Remainder Theorem.]

j [25 marks.]
military officer wished to form the men of his regiment into a
If he formed them into a solid square of side x men there
nine men left over. If he formed them into a hollow square
deep and (x+2) men in side there would be ten men left over.
yw many men were in the regiment.

[30 marks.]

Prove that log, g =log,P —log,Q.

two whole numbers, @, y such that log(z —y)=0'8451,
ately, and log,,x—log,y=0-1426, approximately.
' [30 marks.]

motor car did a journey of y miles at a speed of 2 miles per hour.
eed had been 4 miles per hour greater, the time would have
§ minutes less, but if the speed had been 2 miles per hour less
taken would have been 11} minutes more. C(alculate the
2 and .

[30 miarks.]
If a-f-b-+e=0, prove that a3--b®-Lc3=3abe.
~ (1) Solve the equation :
,; Va—1+3/a-2+\/z+3=0.
3 [30 marks.]

. ABC is a right-angled triangle in which AB=AC=6 inches.
E are taken on AB, AC respectively such that AD—AE—u
Through D, E lines DF, EG are drawn parallel to AC, AB
ly, meeting each other at M and meeting CB at F, G res-
Express in terms of z the sum [S] of the areas of ADME

- -
a graph showing how 8 changes while « is increasing from

i8 the least value which S can have ¢
[30 marks.]



